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Introduction

Screen Presentation Tools

PDF based solutions

AxPoint, Beamer, foiltex, HA-prosper, ifmslide, IPE, KeyJnote, pdfscreen, PPower4,
Prosper, rayslides, ReportLab/PythonPoint, seminar, slidenotes, slideshow, TeXPower,
web

o

HTML based solutions
DocBook dbslide, DocBook slides, latex2slides

o

Other solutions
DFBPoint, mechapoint, mgp-MagicPoint
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“Fur alle, die die Schonheit von Wissenschaft anderen zeigen wollen.”
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Markup ¢ o]: HTML & Beamer(TgX)

HTML

Beamer

<html>

<head>

<meta http-equiv="Content-Type" content="text/html; charset=EUC-KR">
<title>Korean TeX Users Group</title>

<link rel="stylesheet" href="css/2col_rightNav.css" type="text/css">
<style type="text/css"></style>

</head>

<body>

Hello world!

</body>

</html>

\documentclass [8pt, compress, slidetop, hyperref={unicode}, t] {beamer}

\usepackage{amstex, verbatim}

\mode<presentation>

{\usetheme {Frankfurt}

\usecolortheme [named=o0live] {structure}
\usefonttheme [onlymath] {serif}}

\title{Beamer Z =|T=|°| 8 2rg}

\begin{document }

\begin{frame} {start}

Hello world!

\end{frame}

\end{document }

@ HTML (editor) » interpreter+browser (IE/FireFox/Chrome)

@ Beamer (editor) » compile (pdfLaTeX)» browser (Adobe
Reader/SumatraPDF/Foxit Reader)
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Beamer 4 : Preamble(Head)

\documentclass[8pt,hyperref={unicode}, t] {beamer}

\mode<presentation>

{

\usecolortheme [named=o0live] {structure}

\usefonttheme [onlymath] {serif}
\setbeamercovered{transparent}

}

\usepackage {verbatim}
\usepackage{tikz}

\title{Beamer presentation}\subtitle{}
\author{Till Tantau}

\date[]{}

\institute[]{}

\AtBeginSection|[]

{

\begin{frame}<beamer>

\frametitle{*F =i}

\tableofcontents[currentsection, hideallsubsections]
\end{frame}
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Beamer +-/3: Body

\begin{document }

\begin{frame}
AlztstH \titlepage
\end{frame}

\begin{frame}
\frametitle{test 1}

== (= A 1
\end{frame}
\begin{frame}
2aj0|= 2 \frametitle{test 2}
= 1=

A= 2
\end{frame}

\end{document }
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s No Lagest Prime Number

) There is no largest prime number.
Beamer Presentation gesth

Till Tantau Suppose p were the largest prime number.
B Let ¢ be the product of the first p numbers.
Then g+ 1 is not divisible by any of them.

Tochnical Univorsiy of Borlin
B Thus g+ 1 is also prime and greater than p. a
DOF:
mE =F* 4 A®(r,1), A : Lagrange's undetermined multiplier (1)
@

0=2(r,1);
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@ Let g be the product of the first » numbers.

Tochnical University of Berlin @ Then g+ 1 is not divisible by any of them.

@ Thus ¢+ 1 is also prime and greater than p. o

mit = F* 4 A®(r,1), A : Lagrange’s undetermined multiplier (1)
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@ Let g be the product of the first p numbers.

@ Then g+ 1 is not divisible by any of them.

© Thus g+ 1 is also prime and greater than p. o

Technical University of Berlin
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Technical University of Berlin

There Is No Lagest Prime Number

@ Suppose p were the largest prime number.
© Let g be the product of the first p numbers.
@ Then g+ 1 is not divisible by any of them.

©Q Thus g+ 1 is also prime and greater than p. o

mit = F*' 4 Ad(r.1), A : Lagrange's undetermined multiplier (1)
0=(r,1); @
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Templates & Skins (theme): Szeged

There Is No Lagest Prime Number

Theorem
. There is no largest prime number.
Beamer Presentation Proof.

1. Suppose p were the largest prime number.

Till Tantau 2. Let ¢ be the product of the first p numbers.

Technical University of Berlin 3. Then g+ 1 is not divisible by any of them.
4. Thus g+ 1 is also prime and greater than p. [m
DOF: f s

mit = F* 1 A(r.1), A : Lagrange's undetermined multiplier (1)
0=ad(r,1);
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Templates & Skins (theme): UMBC4

Till Tantau

Technical University of Berlin

There is no largest prime number.

Suppose p were the largest prime number.
Let ¢ be the product of the first p numbers.
Then g+ 1 is not divisible by any of them.
Thus ¢+ 1 is also prime and greater than p.

DOF:f=3N+s

mit =F*' +Ad(r.1), A : Lagrange’s undetermined multiplier (1)
0=(r,1); 2
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There is no largest prime numbe

Beamer Presentation

Till Tantau

@ Suppose p were the largest prime number.
@ Let g be the product of the first » numbers.
@ Then g+ 1 is not divisible by any of them.

@ Thus ¢+ 1 is also prime and greater than p. o

Technical University of Berlin

mi =F* + Ad(r,1), A : Lagrange’s undetermined multiplier (1)

0=d(r,1): @)
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Templates & Skins (colortheme): blue (theme: Frankfurt)

There is no largest prime numbe

Beamer Presentation

Till Tantau

© Suppose p were the largest prime number.

@ Let g be the product of the first p numbers.

Tochrical Universiy of Borin @ Then g+ 1 is not divisible by any of them.

© Thus ¢+ 1 is also prime and greater than p. =]

mit = F* 4 A®(r,1), A : Lagrange’s undetermined multiplier (1)
0=2(r.1); @
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Templates & Skins (colortheme): green (theme: Frankfurt)

There is no largest prime numbe

© Suppose p were the largest prime number.
O Let ¢ be the product of the first p numbers.
Tochrical Universiy of Borin © Then g+ 1 is not divisible by any of them.

© Thus g+ 1 is also prime and greater than p

Till Tantau

mit = F* 4 A®(r,1), A : Lagrange’s undetermined multiplier (1)
0=b(r,1): @)
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Technical University of Berlin

ere Is No Lagest Prime Number

There is no largest prime numbe

@ Suppose p were the largest prime number.
@ Let g be the product of the first » numbers.

@ Then g+ 1 is not divisible by any of them.

©Q Thus ¢+ 1 is also prime and greater than p. [=]

mit = F 1 A(r. 1), A : Lagrange's undetermined multiplier (1)
0=d(r,1): @)
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There is no largest prime numbe

@ Suppose p were the largest prime number.
© Let ¢ be the product of the first p numbers.
Tochrical Universiy of Borin © Then g+ 1 is not divisible by any of them.

© Thus ¢+ 1 is also prime and greater than p

Till Tantau

mit = F* 4 A®(r,1), A : Lagrange’s undetermined multiplier (1)
0=b(r,1): @)
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Till Tantau

Technical University of Berlin

ere Is No Lagest Prime Number

There is no largest prime numbe

@ Suppose p were the largest prime number.
@ Let g be the product of the first » numbers.

@ Then g+ 1 is not divisible by any of them.

Q Thus ¢+ 1 is also prime and greater than p. [=]

mit = F 1 A(r. 1), A : Lagrange's undetermined multiplier (1)
0=d(r,1): @)
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source code

\begin{itemize}
\item X o= T
\item & 9™ 2%
\item A &= %
\end{itemize}

Q Hs g ==
Q Huim =
Q T uim &=
@ M uim &=

source code

\begin{enumerate}
\item X U= T
\item & o= %
\item A 91 %%

\end{enumerate}
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\item<4-> beginning
\item<5-> has end.
\end{itemize}
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\item<8-9> that has
\item<9-> beginning
\item<10-> has end.
\end{itemize}
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Sfie S E MEUSHH =F

\begin{itemize}
\item<7-8> Every thing
\item<8-9> that has
\item<9-> beginning @ beginning
\item<10-> has end.

\end{itemize} @ has end.
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Overlay 2:

pause O| s A 7|

\begin{itemize}
\pause\item Every thing
\pause\item that has
\pause\item beginning
\pause\item has end.
\end{itemize}
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Overlay 2:

pause O| 3 M HF7|

\begin{itemize}
\pause\item Every thing
\pause\item that has @ that has
\pause\item beginning

\pause\item has end.

\end{itemize}

@ Every thing
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Overlay 2:

pause O| 3 M HF7|

\begin{itemize}
\pause\item Every thing
\pause\item that has @ that has
\pause\item beginning @ beginning
\pause\item has end.

\end{itemize}

@ Every thing
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Overlay 2:

pause O| 28 HE7|
\begin{itemize}
\pause\item Every thing
\pause\item that has @ that has
\pause\item beginning @ beginning
\pause\item has end.
\end{itemize}

@ Every thing

@ has end.
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A%

Fext — 7vv(q) +FNC — 7gi87q,' JrFNC, (1)

L(qqut) = T(qrqvt) - V(q)7 (2)
d L  JL

wag 97" @

source code

\begin{align}

\mathbf{F}" {ext}

&=—\nabla V (\mathbf{qg})+\mathbf{F}" {NC}

= —-\mathbf{g}“i\frac{\partial V}{\partial g~i}

+ \mathbf{F} " {NC},\\

L(\mathbf{qg}, \dot{\mathbf{g}},t)

&= T (\mathbf{qg}, \dot{\mathbf{g}},t)-V(\mathbf{qg}), \\
\frac{d}{dt}\frac{\partial L}{\partial \dot{g}~j}
&—\frac{\partial L}{\partial g~ 3j}=0

\end{align}
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source code

\begin{tabular}{lcclc|} \hline
$Sp$ & $g$ & and\\ \hline \hline
T & T & T\\

T & F & F\\\hline

\end{tabular}
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Blocks

blocks

Beamer0f| = O|2| Hall =2 3712 20| Ut

standard block

\begin{block} {standard block}...... \end{block}

example block

\begin{exampleblock} {example block}......
\end{exampleblock}

alert block

\begin{alertblock}{alert block}......
\end{alertblock}




Blocks

Beamerof= 0|2| Fall &2 0{2] 7H2| 5t 4] SHSH= S 0| UL

=3

Definition

\begin{definition}{title}......
\end{definition}

\begin{lemma}{title}......
\end{lemma}

Theorem

\begin{theorem} {title}......
\end{theorem}

\begin{proof}{title}..... $\gedhere
\end{proof}
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A7) 1: A 28 7)(z2 2 )

\begin{tikzpicture} [scale=1.5]
\draw [<->,thick] (0,2) node (yaxis) [above] {Sy$}
|- (3,0) node (xaxis) [right] {$x$};

\draw (0,0) coordinate (a_l) -- (2,1.8) coordinate (a_2);
\draw (0,1.5) coordinate (b_1) -- (2.5,0) coordinate (b_2);
\coordinate (c) at (intersection of a_l--a_2 and b_1--b_2);
\draw[dashed] (yaxis |- c) node[left] {$y’$}

-| (xaxis —-| c) node[below] {$x’'S$};

\fill[red] (c) circle (2pt);
\end{tikzpicture}
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Figure: 12! of|A|

source code

\begin{figure}
\includegraphics[width=7cm] {figure. jpg}
%\caption{2 gl <=}

\end{figure}
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@ Zl(chapter), E(section) HEH2 =&

\chapter{Beamer class}
\section{Beamer usage}
\subsection{introduction}
\begin{frame}

ZF (chapter), %l (section)
\end{frame}
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Example (examples for Slide Transitions)

This line is shown on each slide of slide transitions
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source code

{\setbeamercolor{background canvas}{bg=green!40}
\begin{frame}

\frametitle{®NJd =2 22 F=F 7|}

\end{frame} }
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source code

{\setbeamercolor{normal text}{bg=}
\setbeamertemplate{background canvas}

[vertical shading] [top=red!60, bottom=white!30]
\setbeamertemplate{background} [grid]
\begin{frame}

\frametitle{®Jd =2 22 F=F7 2}

\end{frame} }



7|Ef

source code

{\setbeamertemplate{background canvas}

[vertical shading] [top=blue,middle=red, bottom=yellow,midpoint=0.
\begin{frame}

\frametitle{®=1 3 = A2 JF =7 3}

\end{frame} }




common text commands

\emph {Sample Text}
\textbf{Sample Text}
\textit{Sample Text}
\textsl{Sample Text}
\alert{Sample Text}
\textrm{Sample Text}
\textsf{Sample Text}
\color{green} Sample Text
\structure{Sample Text}

Sample Text
Sample Text
Sample Text
Sample Text
Sample Text
Sample Text

Sample Text

Sample Text
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{\tiny 2

{\scriptsize 2 *l}
{\footnotesize

»
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{\small 2 *|}
{\normalsize 2 *|}

{\large
{\Large
{\LARGE
{\huge
{\Huge
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Poster

Poster < 7|

Speech Recognition Technigues for a Sign Language Recognition System %

\documentclass[aOpaper] {beamer}

\usetheme{Boadilla}

\usepackage {pgfpages}

\pgfpagesuselayout {resize to} [aOpaper,border shrink=5mm, landscape]
%$\usepackage [orientation=landscape, size=custom,width=70,height=40, scal
\setbeamertemplate{navigation symbols}{}
\setbeamertemplate{frametitle} [default] [center]
\setbeamerfont{frametitle} {size=\huge}
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Handout

handout: o] =2

‘There I No Lagest Prime Number

\documentclass [handout] {beamer}
\usepackage {pgfpages}
\pgfpagesuselayout {4 on 1} [adpaper, landscape,border shrink=5mm]
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Beamer Presentation
Introduction
equation
There Is No Lagest Prime Number

2008-11-06
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Multiple screens: dual screen
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o CEreE z;z @ Suppose p were the largest prime number.
XEIHE Q Let ¢ be the product of the first p numbers.
@ Then g+ 1 is not divisible by any of them.
@ Thus ¢+ 1 is also prime and greater than p. o
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%$\setbeamercolor{background canvas} {bg=}
\includepdf [pages=190-191] {beameruserguide_307.pdf}
}

o

o Ch =2fo|= HREZOM s 21 H|O|X|E & FslioF sttt



21 Creating Handouts and Lecture Notes

During a presentation it is very much desirable that the audience has a handout or even lecture notes
available to it. A handout allows everyone in the audience to individually go back to things e or she has
not understood.

Al provide Bandouts s crly s possble prfeably ek bfore the k. Do not retin he bnont
tll the end of the

The BEAMER pmkxgc offers two different ways of ereating special versions of your talk they are discussed
in the following. The first, casy, way is to create a handont version by adding the handout option, which
il e she acument 4 b typeset in handout mode. It will *look like” a presentation, but it can be
printed more easily (the overlays are “flattened”). The second, more complicated and more powerful way is
to ereate an independent “article” version of your presentation. This version cocxists in your main file

21.1 Creating Handouts Using the Handout Mode

The easiest way of creating a handout for your audience (though not the most desirable one) is to use
the handout option. This option works exactly like the trans option. An elaborated example of different
overlay wsuﬁu\uuna for the presentation, the handout, and the transparencies can be found in the file
beanerexanplel .t

\docunentclass [handout] {beaner}
Create a version that uses the handout overlay specifications,

You might wish to choose a different color and/or presentation theme for the handout

When printing a handout created this way, you will typically wish to print at least two and possibly four
slides on cach page. The casiest way of doing so is presumably to use pgfpages as follows:

\usepackags petpag:
\tpagereneraetls on 1} adpsper,boxde sheiakesas]

Tnstead of 2 on 1 you can use 4 on 1 (but then you have o add landscape to the lst of options) and you
an use, say, letterpaper instead of adpaper.

21.2  Creating Handouts Using the Article Mode

In the following, the “article version” of your presentation refers to a normal TEX text typeset using,
forexample, the document clss axticl or peraps Lncs or 3 s document clss, This veson of
the presntation vill an\\ll» fllo diffeent typescting uls have a different structure.
Neverthels « this vesion corxist with your presentation in one fle and you may wih
o share some pat af 1 (1ke  figure or  formeda) with yous presenation

T semcral, e arice vorson of a talk s bettr st a8 & handont thann a handout reate usng the
simple handout mode since it is more economic and can include more in-depth information.

2121 Starting the Article Mode,
The article mode of . presentation is created by specifying article or book or some other class as the
document class instead of beaner and by then loading the packnge beanerarticle.

The package beamerarticle defincs virtually all of BEAMER's commands in a way that is sensible for
the article mode. Also, overlay specifications can be given to commands like \textbt or \ten once
beanerarticle has been loaded. Note that, except for \item, these overlay specifications also work: by
writing \section<presentation>{Nane} you will suppress this section command in the article version. For
the cxact effects overlay specifications have in article mode, please see the descriptions of the commands
to which you wish to apply them.

\usepackage [(opfions)] {beanerarticle}
Makes most BEAMER commands available for another document class,

The following (options) may be given:
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 activeospeccharacters will leave the character code of the pointed brackets as specified by other

ackages. Normally, BEAMER will turn off the special behaviour of the two characters < and >

Using this option, you can reinstall the original behaviour at the price of possible problems when
using overlay specifications in the article mode.

» noamstha will suppress the loading of the ansthn package. No theorems will be defined.

» notheoren will suppress the definition of standard environments like theoren, but ansthm is still
Tonded and the \neseheoren command sl makos the define environments ovrly-specifcation-
aware. Using this option allows you to define the standard environments in whatever way you like
while retaining the power of the extensions to anst)

o enveountsect causes theorem, definitions and the like to be numbered with cach section. Thus
instead of Theorem 1 you get Theorem 1.1. T recommend using this option.

o noxcolor will suppress the loading of the xcolor package. No colors will be defined.

Erample:
\docunentclass{articie}
\usepackage{beaserarticle}
\begin{docunent}
\bogin{trane)
\frametitle{h frane title}
\begin{itemize}
\item<1-> You can use overlay specifications
\item<2-> This is useful.

\end{docuzent}

There is one remaining problem: While the article version can easily TeX the whole file, even in the
presence of commands like \frane<2>, we do not want the special article text to be inserted into our original
BEAMER presentation. That means, we would like all text deueen frames to be suppressed. More precisely,
we want all text except for commands like \section and so on to be suppressed. This bebaviour can be
enforced by specifying the option ignorenonframetext in the presentation version. The option will insert
& \mode+ at the beginning of your presentation.

The following example shows a simple usage of the article mode:

\docunentclass [adpaper] {article}
\usepackage (beanerarticle
#\docusentclass [ignorenonfranetext, red] {beaner}

\nodecarticle>{\usepackage {ful lpage}}
\mode<presentation>{\usetheme{Berlin}}

% everyone:
\usopackago [ongl1sh] {babel}
\usepackage{pgt)

\pgtdclareinage [height=1ca] {ayimage}Htilenane}
\begin{docunent)
\section{Introduction}

This is the introduction text. This text is not shoun in the
presentation, but will be part of the article

\bogin{tranc)
\bogin{tigure)
the article, this is a floating figure,
In the presentation, this figure is shown in the first frame
\ptuseisaseleyizage)
\end{f1gure
\endlfranc}
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article (book) classoi|A{ Beamerof| Z 25t I{7|X| MH

£2Lo|=8 BHE 20|

\begin{frame}...\end{frame}
o article MAE FMX{2|5tD
\documentclass[ignorenonframetext] {beamer}

o SE20|EE BHF

source code: main.tex

%\documentclass[adpaper] {article}

\usepackage {beamerarticle}
\mode<article>{\usepackage{fullpage}}
\mode<presentation>{\usetheme{Berlin}}

\usepackage {pgf}
\pgfdeclareimage [height=5cm] {myimage} {flowchart}
\begin{document}

\section{Introduction}

This is the introduction text. This text is not shown in the
presentation, but will be part of the article.
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continued... source code: main.tex

This text is once more not shown in the presentation.

\section{Main Part}

While this text is not shown in the presentation,

the section command also applies to the presentation.
We can add a subsection that is only part

of the article like this:
\subsection<article>{Article-Only Section}

With some more text.

\begin{frame}

This text is part both of the article and of the presentation.
\begin{itemize}

\item This stuff is also shown in both version.

\item This too.

\only<article>{\item This particular item is only part

of the article version.}

\item<presentation:only@0> This text is also only part of the arg
\end{itemize}
\end{frame}

\end{document }

icle.
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|5 main.article.tex
o 2to| 2= ZIo|E0f|M FAIX 2|5t ut S main.tex2t D &
o

MZ ot main.article.texZ ot5

\documentclass[adpaper]{article}
\input {main.tex}

@ pdfLaTeXZ AHutstH 2zl 22| =0|

Beamer: main.beamer.tex
o X =0]| Beamer S2HAE Folot= E2 MY
|-E

o MZ& m}2: main.beamer.tex=S
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\documentclass|[ignorenonframetext] {beamer}
\input{main.tex}

o pdfLaTeXZ ZHutelstH A= 2 =2 AME| 0| Beamer7Z} BtE0{
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